[bookmark: _GoBack]●Упражнение 1. Переведите предложения.
1. These two scientists happened to work on the same problem. 2. The lecture was said to be very interesting. 3. She seems to use Virtual Reality. 4. Lake Bailkal is said to be the deepest in the world. 5. The car was seen to disappear in the distance. 6. They turned out to be good friends. 7. Very soon he appeared to have solved the problem. 8. You are sure to pass the exam properly. 9. She was considered to be a very good teacher. 10. They are likely to thank me afterwards. 11. He is said to be one of the best students here. 12. Many of the passengers turned out to be tourists. 13. Intensive research on optical-electronic computer is said to be going on in a number of US companies. 14. Laser is certain to bring about new discoveries in science and technology. 15. The first pocket-size colour television sets were reported to have been developed. 
16. A method for recording information on crystal by means of a laser is known to have been developed by a Russian researcher. 17. The annual output of personal computers is expected to reach millions in the near future. 18. The laser is known to be a device producing an intensive beam of light by amplifying radiation. 19. Optical technology equivalent of a transistor is reported to have been produced. 20. Our present-day life seems to be quite impossible without telephone, radio and television. 21. Nowadays the principle of radio operation seems to be quite simple. 22. Electricity proved to be able to travel instantly over a long piece of wire. 23. Lasers appeared to be highly useful for solving the problem of controlled thermonuclear reaction and communication. 24. A system of Earth satellites appears to have solved the problem of transmitting the central TV program to any part of the world.

